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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
S IOt 38,780,747 148,572,490 A 109,791,743
BX WY (ZELRNIML/RNSLE Al 38,515,886 148,314,260 A 109,798,374
ERXIONE X2 22l (ZAINLAILSE LS A) 38,515,886 108,314,260 269,798,374
ERXIONY X2 &I 193,628 180,173 13,455
101 @14 dl 43,628 30,173 13,455
04 DIt 22 s 43,628 30,173 13,455
O BXHEXR AZ SZEH UFY
68,7203 » 5% * 20¢ 6,872
O Di2gex 23y o=y
68,7203 3% x 20€ 4,124
O SFMa X A=A 32,632
o o2y 68,7203 * 4H » 5 x 16 21,991
o FEE 68,7203 * 4H » 16 4,399
o MEZ ALY
6,880 * 49 * 6L * 16= 2,642
o AMIEER 300,000& * 4% « 38 3,600
401 Al HIZ 201 Y] 150,000 150,000 0
01 A& HI 148,920 148,920 0
O BXIMHLAMBX T ZHHISAH(HOHCHE &)
30,000,000& = 5Jf4 = 99.28/100 148,920
03 AIE S THHI 1,080 1,080 0
O SXIMNLAMBX T ZHISAH(HOHCHE &)
30,000,000& = 5J4 = 0.72/100 1,080
ol g1yl 38,322,258 108,134,087 269,811,829
1 081 dl 38,322,258 108,134,087 269,811,829
1 ZEHoil gl gl 38,322,258 108,134,087 A 69,811,829
O oldidl 38,322,258,000& * 14 38,322,258
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CIHARIH(S AN AL SESE S H) 153,905 135,961 17,944
ol 2A| 153,905 135,961 17,944
101 @14 Hl 153,905 135,961 17,944
03 RIAHAZ 2T+ 153,905 135,961 17,944
O <OP>AZ (AEHEAR) 38,006
o JEg 2,086,700 = 1H » 123 25,041
o NEY 350,000& = 1H » 128 4,200
o NRE 80,000& ~ 19 = 123 960
o HAHZ I 2,086,700& » 1H = 120% 2,505
o A2te2esg (=)
12,0422 = 1H = 20AI2F = 128 = 150% 4,336
o AXt+g 96,333 » 1H » 10& 964
O <b>AZ (A=A 106,071
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o Jl23 2,613,700& » 2% » 12& 62,729
o N 410,000& = 29 = 128 9,840
o AR 80,000& = 2% = 123 1,920
o HHEZ M 2,613,700& = 2H = 120% 6,273
o AMZIFE(Z=RI)
14,8503 » 2% * 20Al2F » 12& * 150% 10,692
o HXtg 118,802& » 2% » 10 2,377
o AN EEE 12,240,000& * 14 12,240
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8,000& * 3 « 6& » 12 1,728
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20,0003 = 3& = 10 » 12& 7,200
O BAS2H AtHEAME LI=Sd(22=E, &d3
) 300,000& = 3H 900
JI23HI(ZAINLAIE SE 3 H) 110,956 122,269 A 11,313
Jl2ztl 110,956 122,269 A 11,313
201 et 65,756 76,749 A 10,993
01 At 22l 59,612 74,193 A 14,581
O Ybt=2Hl SHAH A 36,612,000& = 14 36,612
O SEHl AN & 19,200,000& * 14 19,200
O Li=dl SAAH& 1,800,000& * 14 1,800
O Xtz WU & 2,000,000& = 14l 2,000
02 22224l 6,144 2,556 3,588
O 3322 % HMA SdAH
6,144,000& * 14 6,144
202 o4dl 45,200 45,520 A 320
01 = LH o4 1l 45,200 45,520 A 320
O BN2E SUNHY 45,200,000 & 45,200




